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FH=0Fx FC/0C=16/5

OH=v/OF - Fif = ¢ a=8/5 b=16/5
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19. :  =(3+1)-21-3¢4 )
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BE AC E BE (D 0
OD=0E (3 )
ODB= OEC=90° (4 )
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0B=0C (7 )

B
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22.
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m’-2 (2m—2) =25
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X=3 X:~4 (7
a=3 sinA=a/c=3/5
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EAG ARBEHENY 3 x2a=Za,
BRBAY 2x2a=Za(): @%)

THREHBEA S xTa=¢a,
BEBAN 16xfa=Sa(E). (34)

Sl 2 2 4

AAG ARKTHEES £ xZo=1ca,
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AB 0 DF AB H
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DPO= EPC PDO PEC
PD/PE=P0,/PC PD- PC=PO- PE (3 )

PA- PB=PD- PC
PA- PB=PO- PE (4 )
2 = @ AB DF
ED=EF 3= 4
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OH=1 DH=v3
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1= 2 DHO= DEC=90°
DHO  DEC
SR B, P WE -G G
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24. (1) B BH «x H 1 )
Rt OHB
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B-3 -1) (3 )
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.
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(3) A B X
3
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A B X
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2. :2a—(2a-1)=
1
i
Ol
|
Ny
( 3 )
3.
4 m n 'm—1+n|=




2002

(3 4)

sina =

5. A B 0
0A C OB D Ch=31.4
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AB=AE ABC= AED BC =ED F

AF CD




2002

24.

A BC AE
(1)
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o ™
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23. (1) : AC AD (1 )
AB=AE ABC= AED BC=ED
ABC AED (2 )

AC=AD (3 )
F CD
AF CD (4 )
(2) BE CD AF BE
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ABCDE AF
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24. (1) : BC AE
BCA= CAE (1 )
AE 0 A

CAE= ABC (2 )
BCA= ABC  AB=AC

ABC (3 )
(2) AR
C AB AE P,
ACP= BAC
P.AC=  ABC AP.C  BCA
AC=AB AP.C  BCA
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c o0 AE P, AP~CP
ACP~ CAP~ BCA= CBA AP.C
BAC
RS

95. +(1): 3+7=19515 (2 )

3 )
(2) t
FTwEPe (6 ) t=3( )
8 )
Zﬁ.ﬂ:{l)lﬂ{ﬂ=_1_’ wia{"" " o)

n 3
# A(1,0), B(3,0) B 44543 BIAEA
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3)

b=4 c=-

3
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(2) y=—x +4x—3 y c (0
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